/
0sl
rtl8019.c  |rtl8019.h | rtl8019.h
Ethernet ethernet.c |ethernet.h
ARP arp.c arp.h
IP ip.c ip.h
1CMP icmp.c icmp.h
TCP tcp.c tcp.h tcpdef.h
UDP udp.c udp.h udpdef.h
ethergen.c |ethergen.h
Ip.h

(rtl8019.c)

bool Niclnit(void (*waitms)(int))

void (waitms)(int)

/ : TRUE/FALSE

RTL8O19A

Serial EEPROM

MAC

PAGEO: ISR RST

FALSE
byte *NicGetMacAddress(void)
MAC
RTL8019A Serial EEPROM MAC

bool NicTransmit(const byte *ebuf, int psize)

const byte *ebuf

int psize

/ - TRUE/FALSE

RTL8019A

FALSE

int NicReceive(byte *ebuf)

byte *ebuf

RTL8BO19A

void

Niclntr(void)

RTL8BO19A




Ethernet(ethernet.c)

bool EtherTransmit(int size)

int size |
/ : TRUE/FALSE
Ethernet
IP MAC ARP
ARP FALSE
int EtherReceive(void)
RTL8019A

ARP ARP

byte ether buffer[]

/
IP
void EtherSetlp(dword ip)
dword ip \IP
1P
IP
dword EtherGetlp(void)
IP
IP
Netmask
void EtherSetNetmask(dword netmask)
dword netmask |Netmask
Netmask
Netmask
dword EtherGetNetmask(void)
Netmask
Netmask
Gateway
void EtherSetGateway(dword gateway)
dword gateway |Gateway
Gateway
Gateway

dword EtherGetGateway(void)

Gateway

Gateway




ARP (arp.c)

bool ArpSearch(byte *mac, dword ip, dword nmask, dword gway)

byte *mac MAC

dword 1ip 1P
MAC : TRUE/FALSE
ip MAC TRUE
ARP FALSE
void Arplnput(void)
ARP
void ArpCache(void)
dword ip |IP
ARP IP MAC
1P ip.c

bool IpTransmit(const IP_INFO *ip, int size)

const IP_INFO *ip IP_INFO
typedef struct{
byte protocol

dword srcip IP
dwrod dstip IP
HP_INFO;
int size
EthterTransmit()
1P

int IpReceive(byte *iphlen)

byte *iphlen |IP

RECEIVE_NON /
RECEIVE_UDP UDP
RECEIVE_TCP TCP




1CMP icmp.c

void IcmpReceive(void)

1CMP

Echo

Request

bool IcmpSendEchoReg(dword ip, int size)

dword ip IP

int size

IpTransmit()

Echo Request

Echo

bool IcmplsEchoReply(void)

Echo Request TRUE
FALSE
IcmpSendEchoReq() IcmplsEchoReply() TRUE
IP
UDP (udp.c

void udp_init(void)

void udp_input(void)

UDP

UDP

UDP

ITCP  UDP

TCP tcp.c

void tcp init(const long *mseccount)

const long *mseccount Imsec

void tcp input(void)

TCP

TCP




void tcp retry(void)

TCP

TCP

TCP UDP

void tcpudp_input(void)

UDP TCP

udp_input() tcp_input() tcp_retry()

TCP UDP
TCP
ITCP  UDP
TCP UDP tcp.c udp.c
Winsock
TCP UDP
TCP  UDP)
int tcp socket(void) udp socket(void)
ID O
TCP_NO_ENTRY(UDP_NO _ENTRY)
TCP  UDP)
int tcp closesocket(int id) udp closesocket(int id)
int id | ID
0
1D TCP_NO_ENTRY(UDP_NO _ENTRY)
TCP  UDP)
int tcp bind(int id, word port) wudp bind(int id, word port)
int id ID
word port
ID O
TCP_NO _ENTRY(UDP_NO _ENTRY)
TCP)
int tcp listen(int id, int backlog)
int id ID

int backlog

TCP_NO_ENTRY

TCP)

int tcp accept(int id)

int id \ ID

D
TCP_NO_ACCEPT
TCP_NO_ENTRY




TCP)

int tcp _connect(int id, const sockaddr *dst)
int id ID
const sockaddr *dst typedef struct{
dword ip; 1P
word port;
}sockaddr;
0
TCP_NO ENTRY
TCP)
byte tcp status(int id)
int id | ID
Oxff
LISTEN ESTABLISHED LAST_ACK
SYN_RCVD FIN WAIT 1 FIN_WAIT 2
SYN_SENT CLOSE_WAIT CLOSED
TCP TCP)
int tcp send(int id, const byte *data, int len)
int id ID
const byte *data
int len
TCP_NO_ENTRY
TCP_TX_BUSY
TCP TCP)
int tcp recv(int id, byte *data, int len)
int id ID
byte *data
int len
0
TCP_NO_ENTRY
TCP_TX BUSY
UDP UDP)
int udp_sendto(int id, const byte *buf, int len,
word sport, const sockaddr *dst)
int id ID
const byte *data
int len
word sprot
const sockaddr *dst tcp _connect()
UDP_NO_ENTRY
UDP UDP)
int udp_recfrom(int id, byte *buf, int max, word *dport, sockaddr *src)
int id ID
byte *data
int max

word *dport

sockaddr *src tcp _connet()




UDP_NO_ENTRY

ethergen.c

dword add dataw(const byte *addr, int size, dword init)

const byte *addr

int size byte

dword init

word checksum(const byte *addr, int size, dword init, bool make)

const byte *addr

int size byte
dword init

bool make TRUE/FALSE /

char*  dword2str(dword num, char *buf)

dword num

char *buf

char*  dword2str(dword num, char *buf)

word num

char *buf

char*  dword2str(dword num, char *buf)

byte num

char *buf

void set byte(byte *buf, int offset, byte val)

byte *buf

int offset

byte val

offset

byte get byte(const byte *buf, int offset)

const byte *buf

int offset

offset




void set word(byte *buf, int offset, word val)

byte *buf

int offset

word val

offset

word get word(const byte *buf, int offset)

const byte *buf

int offset

offset

void set dword(byte *buf, int offset, dword val)

byte *buf

int offset

byte val

offset

dword get dword(const byte *buf, int offset)

const byte *buf

int offset

offset

char* utoa(word num, char *buf)

word num

char *buf

IP
char* inet ntoa(dword ipaddr, char *buf)
dword ipaddr IP
char *buf
1P
0xCOA80016 -> "192.168.0.22"
IP

dword inet addr(const char *str)

const char *str |

1P 0

1P
"192.168.0.123" -> 0xCOA8007B
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